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#3 1 change.py
#A program to calculate the value of some change in dollars
def main() :
print ("Change Counter")
print ()
print ("I AR A B T AL )
yuan = eval (input ("G £/ 1 LT : "))
fifty cents = eval (input ("G £/ 5 AT : "))
twenty cents = eval(input("ﬁg//'\ 2MAMBET: ™))
ten cents = eval (input ("A £/ 1 AWM "))
total =yuan * 1.0 + fifty cents * .50 + twenty cents * .20 + ten cents * .10
print ()
print ("RINA RYRET SHZE", total)

main ()
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>>> type(5)
<class '"int'>
>>> type(5.0)
<class '"float'>
>>>a=5

>>> type(a)
<class '"int'>
>>>a=5.0

>>> type(a)

<class 'float'>
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4%, Python B T % £F int BRI float #Y, 34 572 FF K % (long) #1452 %X (complex) #Y

# 3-1 8 T — B E(E 2 T 1) 7 il
F3-1 —EHERITRG

int long float complex
10 519243964254752 0.0 3.14j
—10 —47218852996548 3.21 3j
0056 (\ i) 005734542234233251 (J\ D 56.25 9.322e—32j
—0056 S\ FEH —00573454223433251 (J\ kD —32.54e100 3e+23j
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12

>>> 3.0 * 4.0
12.0

>>> 4 %% 3

64

>>> 4.0 %% 3
64.0

>>> 4.0 %% 3.0
64.0

>>> abs(5)

5

>>> abs(-3.5)
3.5
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>>> 100/ 3
33.333333333333336
>>> 100 // 3

33

>>> 100.0 / 3.0
33.333333333333336
>>> 100.0 // 3.0
33.0

>>> 100.00 // 3.00
33.0

>>> 100 % 3

1

>>>100.0 % 3.0
1.0
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a= (a//b) (b) + (a%b)
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>>> int (3.14)

3

>>> float(3)

3.0

>>> float (int(3.14))
3.0

>>> int(float (3))

3

LR JIT D, 2 38 Sy B R gh S 25 3 0 ASU(E 0 /N BRI 4 2 (B K AT I 2 i A R
B SEAT VY 5 A B3 E R R N B Y round O BREL, B T LIRE B DY & A B i
FE I B B .

>>> round(3.14)

3

>>> round(3.5)
4
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>>> pi= 3.141592653589793
>>> round(pi, 2)

3.14

>>> round(pi, 3)

3.142

AN W BT int O A float O 38 W LUK 807 745 58 6 e o 07 2 A .

>>> int ("1234")

1234

>>> float ("1234")
1234.0

>>> float("1234.5")
1234.5
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#3 2 new change.py
#A program to calculate the value of some change in dollars
def main() :
print ("Change Counter")
print ()
print ("iE % AR FhAE A EC)
yuan = int (input ("F £/ 1 JLHER: "))
fifty cents = int (input ("A £/ 5 AT : "))
twenty cents = int (input ("H £/ 2 AT : ™))
ten cents = int (input("HZ/4 1AM "))
total =yuan * 1.0 + fifty cents * .50 + twenty cents * .20 + ten cents * .10
print()
print ("RINARRET BEZE", total)

main ()
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it B 7 2R 5 40 A eval O BRI ME — Y 5 U2 B A SRR I A CHPAS BE 7 2R
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>>> #simultaneous input using eval
>>> x,y = eval (input ("Enter (x,y): "))
Enter (x,y): 3,4

>>> x

3

>>> y

4

>>> #does not work with float

>>> x,y = float (input ("Enter (x,y): "))
Enter (x,y): 3,4

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

ValueError: could not convert string to float: '3, 4"
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#3 3 math.py
#A program to math

import math

def main() :
print ("RF—JCZRITEE")
print()
a= float(input("ﬁu‘/\g\ﬁ a: "))
b = float (input ("M ARE b: "))

40 Python #2 /5% i+ & &t



c = float (input ("HiIARE c: "))
discRoot = math.sqgrt(b ¥ b -4 *x a *x ¢)

rootl = (-b + discRoot) / (2 * a)
root2 = (-b - discRoot) / (2 * a)
print()

print ("HFFEMIf# N :", rootl, root2 )

main ()
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#3 4 factorial.py
#A program to factorial
def main() :
n = int (input("%iﬁ/\ n:"))
fact =1
for i in range(1l,n+1):
fact = fact * i

print( n, "R ", fact)
main ()
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